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Unit 5 — Day 8 — Assignment U

1. Find the point on the graph of f(x)=~—x+8 so that the point (2, 0) i@o the graph.
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2. A rancher has 200 total feet of fencing with which to enclose two adjacent 1ectangu1ar corrals.

What dimensions should each corral be so that the enclose@be a maximum} P ‘“* )
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3. The area of a rectangle is 64 square feet. What dimensions of the rectangle would give the
smallest perimeter? \e
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4, A rectangle is bound by the x — axis and the graph of a semicitc dby y =+/25 — x?
What length and width should the rectangle have so that itg"area is 2 maximum?
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5. A 1ectanglei\K])3CD with sides parallel to the coordinate axes is inscribed in the region K= F_{:‘:}»-
enclosed by the graph of = —4x* + 4 as shown in the figure below. Find the x and y coordinates

of the point C so that thedarea of the rectangle is a maxm
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6. Find th a box that can be made by cutting squares from the corners of

an 8 inch by T3 inch rectangular sheet of cardboard and folding up the sides.
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7. The volume of a cylindrical tin can with a top and bottom is to be 167 cubit-ifiches. If a
minimuniamount of tin is to be used to construct the can, what must the height, in inches, of the
canbe?
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